
TOGGLED LOAD RESULTS VS. MESH SIZE 
 

 

 

-100

0

100

200

300

400

500

600

0 5 10

Te
m

p
e

ra
tu

re
 o

f 
So

lid
  [

°C
]

Physical time (s)

MESH SIZE: 3

SG Max 
Temperature of 
Solid 1

-50

0

50

100

150

200

0 5 10

Te
m

p
e

ra
tu

re
 o

f 
So

lid
  [

°C
]

Physical time (s)

MESH SIZE: 4

SG Max 
Temperature of 
Solid 1

-50

50

150

250

0 5 10

Te
m

p
e

ra
tu

re
 o

f 
So

lid
  [

°C
]

Physical time (s)

MESH SIZE: 5

SG Max 
Temperature of 
Solid 1

-50

50

150

250

0 5 10Te
m

p
e

ra
tu

re
 o

f 
So

lid
  [

°C
]

Physical time (s)

MESH SIZE: 6

SG Max 
Temperature of 
Solid 1

TOGGLED LOAD  

Solver suddenly stops 

and seems to 

extrapolate linearly? 

Why? 


